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UK 7 # R Edg |
B A 9 a8 HiE B | TCLP 484 | TCLP #4848 |TCLP #14%|TCLP #44% |TCLP_»1{&# |TCLP 4a4m |TCLP #%k
T (%) (%) (mg/T) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
JE B (23EHE) 1.68 0.05 ND 0.744 ND 0.396 0.09 0.701 ND
EEZEREN . 3 5 100 1 5 2:5 15 0.2
B 58] € fir TCLP #a4y pH TCLP #8% | TCLP #a4:| 4Sk& FEFR —a4b® | Z=faib=48 | ALK
e (mg/L) (mg/L) (mg/L) (%) (%) (%) (%) (%)
JE & (2805 ND 12.34(24.6°C) ND <0.050 14.8 9.80 27.4 5.65 5.29
HEFEREY 5 > 1 : : - i " G
B I 2 i f.4b45 4R 4o 4 4 48,47 4o gy Yo by 4 4R Ha kg,
T (%) (mg/kg) | (mg/ke) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg)
JEE(25R0E) 31.6 <0.200 <20.0 287 5280 563 4430 1750 29.5
FaE | TEF | yaravn| mpse
BS R Bh A &
(mg/kg) | (kg/m’) |(ng I-TEQ/g) (%)
JEE (2348 ND 1787 0.002 0.6
FEFEREY : g 1 :
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) 2 4 ) 3 a8 FiE 8 | TCLP_#a%f |[TCLP #4148 |TCLP 484%|TCLP #a4% |TCLP &4 |TCLP 4a4F | TCLP #3k
i i (%) (%) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
MR (235 08) 113.07.01 13.5 1.17 ND 1.73 <0.030(0.0176) 3.03 2.50 ND ND
BE & am(23k)E) | 113.07.01 39.3 5.53 <0.400 0.418 154 <0.200 ND 21.9 0.0571
AEFERTORERE - - 5 100 1 5 2.5 15 0.2
B A EL A EZGR) B #7 TCLP #a4n o TCLP #8#%|TCLP #4%| 4Ak&F T —RAbE [Zf4ib 48| =Rl
(mg/L) (mg/L) (mg/L) (%) (%) (%) (%) (%)
el (25E)E) 113.07.01 ND 11.58(24.6°C)| <0.100(0.0872)]  0.062 2.65 5.55 9.33 0.78 041 |
BJE A sl (25E05) | 113.07.01 8.55 9.98(24.7°C)|  <0.400 263 0.20 1.10 4.88 0.14 0.13
AEFEBREIMN LR 5 £ 1 : 4 . S - 8
B b i paam| M | @x 4o Kas 4a4m e 4y 447 s
(%) (mg/ke) | (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg)
e (23848 ) 113.07.01 3.18 2.07 27.5 764 799 187 9050 250 155
RE 4 st (23845) | 113.07.01 1.53 1.00 <20.0 2310 961 47.4 20600 172 305
4 R Wﬂgﬁ HAF Rk
B B BE A3 BB
(mg/kg) | (kg/m?) (ng I-
TEQ/g)
ek (2355 113.07.01 ND 1000 0.254
BJE A& st (23E45) | 113.07.01 ND 608 0.744
HEFELEBREWREAZE - = 1




